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Descriptive statistics 
[image: ]

Correlation among X’s 
[image: ]
Poisson regression (Y = child, X = b_dummy, g_dummy, male_dummy, sibling) 
[image: ]

Partial Poisson model (Y = child, X =male_dummy, and sibling) 
[image: ]






[bookmark: _GoBack]Poisson regression – “Graduate degree” as reference category (Y = child, X = b_dummy, h_dummy, male_dummy, sibling) 
[image: ]
image4.emf
         Prob > chi2(36)          =    0.3170

         Pearson goodness-of-fit  =  39.48453

         Prob > chi2(36)          =    0.0955

         Deviance goodness-of-fit =  47.47587

. estat gof

                                                                              

       _cons     .1704775   .1959705     0.87   0.384    -.2136177    .5545726

     sibling     .2384582   .0514578     4.63   0.000     .1376028    .3393137

  male_dummy     .3836475   .2070758     1.85   0.064    -.0222136    .7895085

                                                                              

       child        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -68.848157                     Pseudo R2         =     0.1597

                                                Prob > chi2       =     0.0000

                                                LR chi2(2)        =      26.17

Poisson regression                              Number of obs     =         39

Iteration 2:   log likelihood = -68.848157  

Iteration 1:   log likelihood = -68.848157  

Iteration 0:   log likelihood = -68.850723  


image5.emf
         Prob > chi2(34)          =    0.3256

         Pearson goodness-of-fit  =   37.1595

         Prob > chi2(34)          =    0.1047

         Deviance goodness-of-fit =  44.64437

. estat gof

                                                                              

       _cons    -.1614302    .301933    -0.53   0.593    -.7532081    .4303477

     sibling     .2355949   .0597033     3.95   0.000     .1185787    .3526112

  male_dummy     .4846919   .2158581     2.25   0.025     .0616179    .9077659

     h_dummy     .5349035   .3255482     1.64   0.100    -.1031592    1.172966

     b_dummy     .2628774   .3136714     0.84   0.402    -.3519073     .877662

                                                                              

       child        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -67.432407                     Pseudo R2         =     0.1770

                                                Prob > chi2       =     0.0000

                                                LR chi2(4)        =      29.00

Poisson regression                              Number of obs     =         39

Iteration 2:   log likelihood = -67.432407  

Iteration 1:   log likelihood = -67.432407  

Iteration 0:   log likelihood = -67.436236  


image1.emf
      Total           39      100.00

                                                

       Male           17       43.59      100.00

     Female           22       56.41       56.41

                                                

     gender        Freq.     Percent        Cum.

-> tabulation of gender  

          Total           39      100.00

                                                    

    High school           11       28.21      100.00

Graduate degree           10       25.64       71.79

      Bachelors           18       46.15       46.15

                                                    

       academic        Freq.     Percent        Cum.

-> tabulation of academic  

. tab1 academic gender 

. 

99%            7              7       Kurtosis       3.357139

95%            5              5       Skewness       .8288847

90%            4              5       Variance       2.892038

75%            3              4

                        Largest       Std. Dev.      1.700599

50%            2                      Mean           1.948718

25%            1              0       Sum of Wgt.          39

10%            0              0       Obs                  39

 5%            0              0

 1%            0              0

      Percentiles      Smallest

                                                             

                           sibling

99%            9              9       Kurtosis       4.483108

95%            8              8       Skewness       1.052878

90%            5              5       Variance       4.361673

75%            4              5

                        Largest       Std. Dev.      2.088462

50%            2                      Mean           2.512821

25%            1              0       Sum of Wgt.          39

10%            0              0       Obs                  39

 5%            0              0

 1%            0              0

      Percentiles      Smallest

                                                             

                            child


image2.emf
     sibling     0.3347  -0.2969   0.0885   1.0000

  male_dummy     0.0160   0.1943   1.0000

     g_dummy    -0.5437   1.0000

     b_dummy     1.0000

                                                  

                b_dummy  g_dummy male_d~y  sibling


image3.emf
         Prob > chi2(34)          =    0.3256

         Pearson goodness-of-fit  =   37.1595

         Prob > chi2(34)          =    0.1047

         Deviance goodness-of-fit =  44.64437

. estat gof

                                                                              

       _cons     .3734733   .2239889     1.67   0.095    -.0655369    .8124834

     sibling     .2355949   .0597033     3.95   0.000     .1185787    .3526112

  male_dummy     .4846919   .2158581     2.25   0.025     .0616179    .9077659

     g_dummy    -.5349035   .3255482    -1.64   0.100    -1.172966    .1031592

     b_dummy    -.2720261   .2634915    -1.03   0.302      -.78846    .2444077

                                                                              

       child        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -67.432407                     Pseudo R2         =     0.1770

                                                Prob > chi2       =     0.0000

                                                LR chi2(4)        =      29.00

Poisson regression                              Number of obs     =         39

Iteration 2:   log likelihood = -67.432407  

Iteration 1:   log likelihood = -67.432407  

Iteration 0:   log likelihood = -67.436236  


